BEXRETADFER., REEFALEROBSHREANEFRER
3—1. ZDMDOAXEH() BYEDEDAEHER

=&(em) | 1 2 3 4 5 (1 Sv/h) (i Sv/h) (mSv/%F)
1| BAOER—L |EYME(10A178| Bh 9:03 50 0.15 | 0.17 | 015 [ 0.14 | 0.17 0.17 0.16 0.841
2 |Br@wErtos—| BYWE (108178 | 8BY. Bh| 14:25 100 | 009 | 010 | 011 | 013 | 0.12 0.13 0.11 0.578
3 [n—ton-zt—vsor| @ 108198 Bh 9:50 100 | 0.10 | 009 | 0.10 | 0.09 | 0.09 0.10 0.09 0.473
4 | ETEFHEKE |EWZF|10A198| BH | 1513 100 | 0.07 | 008 | 008 | 0.08 | 0.07 0.08 0.08 0.420
5 |#RMaxFAES EYEF (108198 B | 1556 100 | 0.10 | 011 [011 [0.11 | 0.11 0.11 0.11 0.578
6 | IAURNS—4 | E@WZE |108188| <BY | 10:28 100 | 0.06 | 006 | 0.07 | 0.07 | 0.06 0.07 0.06 0.315
7 | SLwk/S—4 | EME 108208 Bh | 1419 100 | 013 | 011 | 010 | 012 | 0.11 0.13 0.11 0.578
8 |ZEABHELS—| EYE|10A178| M/EY | 16:11 100 | 010 | 011 [ 0.10 [ 0.10 | 0.10 0.11 0.10 0.526

X1, BERETOBRFONMRET HEEE=10uSv/h

2. ERREmMSv/E) = [(FHIB(u Sv/h) x 8ERR) + (FI9ME(u Sv/h)) x 0.4 x 1685RA)) x 365 H =1,000

(ARER) FERMRE (mSv/ ) = [(TH9{B( 1 Sv/h) x BRI (1 B24BRAD M. BV BRERR)) + (TH{E(u Sv/h) X 04{BNIRE GE~VEHE (0.4) DHEAE
RE) x 168508 (160 RIMETET HEVVSETE/ A8 —U%{RFE)] X 3650 + 1,000 (BAIEIITET )



BEXRETADFER. REEF A X EZROBGREANEHERR
3—1. ZDMD A H#EHR(2) EMELFOAERR

HI5E
E&(em)| 1 2 3 4 5 (i Sv/h) (i Sv/h) (mSv/%)
9 | ANHULMELFAT| BWZE 108198 Bh | 14:28 100 | 0.10 | 011 [0.10 [ 0.11 | 0.09 0.11 0.10 0.526
10 |REEEREL S| BYWF 10198 Bh | 13:51 100 | 0.10 | 009 | 0.08 | 0.08 | 0.09 0.10 0.09 0.473
1 |®=&-LuBgsHssE| BYE 108198 Bh | 11:10 100 | 0.09 | 0.10 [ 0.08 | 0.07 | 0.07 0.10 0.08 0.420
12 %Zﬁgé’g)@iﬁ BYE 108178 Bh 9:48 100 | 0.06 | 007 | 009 | 0.08 | 0.07 0.09 0.07 0.368
13 %3?3:]3,?;)@5& B (108198 Bh | 11:47 100 | 008 | 008 | 008 | 006 | 008 0.08 0.08 0.420
14 | IBRE/NZER |29 (108186 2Y 9:59 50 | 012 | 009 [009 | 011 | 007 0.12 0.10 0.526
15 |[B/NENN P2 | Y% [10R 188 | &Y /BN | 11:10 50 | 016 015 [0.10 | 011 |0.13 0.16 0.13 0.683
16 | ARSI | EWE 108198 BHh | 13:09 50 | 016 011 [013 | 012 |0.10 0.16 0.12 0.631
17 | IBAF/DMER | EYW%E |10A188|2YBh| 9:19 50 |0.10 | 014 | 016 | 0.14 | 0.16 0.16 0.14 0.736

1. BREORAOHRET HHEE=104Sv/h

X2, FERREmSy/E) = ((THME(LSv/h) X 8F ) + (F9MB(1 Sv/h) x 0.4 x 16B5RE)]) x 365 +1,000

(R5%) E R B (mSv/4) = ((FHB(1 Sv/h) x 8EERITT B 24B DM, BAMZLBIRERM)) + (FI9ME(u Sv/h) X 04UBPBRHE GENLHE (04) DHEHKE
RIE) x 1685R (16B RIMBTES HEVVSAE/ S8 —VERE)) x 3650 -+ 1,000 (BATEIYITET 4)



